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|dentifying Multiples Name:
Use'Yes or 'no' to answer each question. Answers
1) 1s20amultiple of 3?
1
2) Is46 amultiple of 6?
2.
3) Is52 amultiple of 2?
3
4) 1s93 amultiple of 3?
4.
5) Is78 amultiple of 2?
5.
6) Is20amultiple of 4?
6.
7) Is61amultiple of 9?7
7.
8) 1s97 amultiple of 9?
8.
9) 1s88 amultiple of 82
9.
10) Is24 amultiple of 8?
10.
11) Is83 amultiple of 2?
11.
12) Is85amultiple of 9?
12.
13) 1s92 amultiple of 2?
13.
14) Is48 amultiple of 7?
14.
15) 1s17 amultiple of 4?
15.
16) 1s29 amultiple of 3?
16.
17) 1s52 amultiple of 8?
17.
18) Is33 amultiple of 3?
18.
19) 1s80 amultiple of 2?
19.
20) 1s90 amultiple of 2?
20.
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|dentifying Multiples Name: Answer Key
Use'Yes or 'no' to answer each question. Answers

1) 1s20amultiple of 3?
1. no

2) Is46 amultiple of 6?
2 no

3) Is52 amultiple of 2?
3, YES

4) 1s93 amultiple of 3?
4. YES

5) Is78 amultiple of 2?
5. YES

6) Is20amultiple of 4?
6. YES

7) Is61amultiple of 9?7
7. no

8) 1s97 amultiple of 9?
8. no

9) 1s88 amultiple of 82
) YES

10) Is24 amultiple of 8?
10. YES

11) Is83 amultiple of 2?
11. no

12) Is85amultiple of 9?
12. no

13) 1s92 amultiple of 2?
13. YES

14) Is48 amultiple of 7?
14. no

15) 1s17 amultiple of 4?
15. no

16) 1s29 amultiple of 3?
16. no

17) 1s52 amultiple of 8?
17. no

18) Is33 amultiple of 3?
18. YES

19) 1s80 amultiple of 2?
19. YES

20) 1s90 amultiple of 2?
20. YES
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